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FAET & A H@?Qr / Instructions to the Candidates

1. 99T I G0N REASHT & &G F g FAW g W @l At o Aeaiea fhar
ST /The question paper is in the form of test booklet. All candidates will be
assessed on identical questions.

2. 3cR forgel g @ef 3t &t Fes F ufd & Ty e @ Uk HUANR 3o
YT ITSY HS ST e Foa $f 9 & NTANR e HF 301 )
T e @ diT &1 /A separate OMR answer sheet with carbon impression is

provided to all candidates for answering. The carbon impression of the OMR
sheet will be detached and handed over to candidate by the invigilator.
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10.

Y GEQIISS e U ed YT / YT WEAT & Ay feAr Seem, ser [y sew
faweq (%), (@), (1), T9T (F) @E] &1 3d7 & TH & 3ccl HET g9mW / Each
objective question is provided with a text and/or figures wherever applicable
with multiple answer choices (a), (b), (c) and (d). Only one of them is correct.

HATAIR ofic W BT 70 el # eae @ 9&| 30 Skl H RgfAd A aur
forest g Faer #fler Iuar F@ dfd Uge FoA H & TAET X/ Read the

instructions on the OMR sheet carefully. Use only Blue or Black Ball Point Pen
for writing on OMR sheet and marking your answers.

T aEdfess yeR & WAl F FE 3R @ WA TR 3F g
I 3ccll & TIT P FAPRIcHS 37haT aTal ¢ / All objective type questions carry

equal marks of ONE for a correct answer. There is no negative marking for
Wrong answers.

. T g g Rafaw Ieaw S W 3H T SedX & AR S|

Multiple answers for a question will be regarded as a wrong answer.

ITIIF B W TG H g IR & U 70 Refed T 1 3TN H Hh &
T & Fs o ofe Uy Er S STUIN / Space available in the booklet
could be used for rough work, if required. No separate sheet will be provided.

ﬁqaﬂmﬁﬁua@é‘rﬁﬁmwwamwmmﬁmaﬁl
3T 3T 99T 8T Y dhd & ddT 91 H FHideT U g Y / Do not waste time

on questions, which are too difficult for you. You can go on to other questions
and come back to the difficult ones later.

LU & YUH O & gRe eafddl A udem glor ®ise @ FAfd A6 Bl

Candidates are not permitted to leave the examination hall during the first hour
of the examination.

qﬁm#msﬁw(nqﬁaﬁmg@%ﬁaqﬁm*ﬁwmm(z)
HTANR Jeex Yt sedters 1 dfa & qur el ot groma & st s A
o & ST / At the end of the test (1) Hall Ticket(s) with photograph pasted on it

and (2) OMR Answer Sheet shall be returned to the invigilator and shall not be
carried by the candidate under any circumstances.

* %k ok ok k



SET-A

1.Ueh SEATT T €IS I dag 74T g, off [ 13 &« §, T &7 &7 @/08 20mm x 20mm &

fSTe# Wseh &1 ofelelueT &ef 40N § T YeAIeATae &l AT 200MPa g
What is the elongation of a steel road, which is 1m long, having a c/s area of 20mm x 20mm subjected to a
tensile force of 40N and Module of elasticity of road is 200MPa

A. 1.00 B. 0.75 C. 0.50 D. 0.25

2. ¥ Tel T Uh ohgl T IMUR YT T & aRe ui 3 Seeg o WA ®9 ¥ FaRd oR

FHTeIaT g1 i @ & @ & T Uia fRAr @7 AT & A propped cantilever of span L carries a

uniformly distributed load of ‘W’ per unit run over its entire span. The value of prop reaction to keep the
beam horizontal is

A. WL/3 B. 3WL/8 C. WL/2 D. 5SWL/8

3. 15:456 — 2000 & 3TeJHREhshIC o ofeileidel &1 HISY , (Ec)/  As per is 15:456 — 2000, the modulus of
Elasticity of concrete (Ec)

A Ec=0.7 ./fck B. Ec=500 ./fck C. Ec=16 .Jfck D. Ec=5000 /fck

4, ﬁﬁ*ﬁ%%ﬁ%ﬁﬂ%%mﬁ?/ Which one of the following types of crane

is used for high-rise buildings?

A. TTAX shel Tower crane B. 7ET Shel Gantry crane
C. 3R el Derrick crane D. AT sheT Traveller crane

5. FT H A Pl AT I%E.'I'é T 3YHIUT 76l & /Which of the following is not excavating equipments?

A. FeTell Hoe B. GITeAT Scraper  C. 31iNel Dragline  D. TG WTa@ST Power shovel

6. Asimply supported Beam of span 10m is subjected to a central load of 48KN. The maximum deflection of
the beam if =10 x 10°mm®* and E=100GPa is

A. 1.00mm B. 0.75mm C. 0.50mm D. 0.25mm

7. it ash T3TseT & foIv, 3mSR aRT 31egRiffe edor i ared aqonies @

For a horizontal curve design, the lateral coefficient of friction recommended by IRC is

A. 0.35 B. 0. C. 0.25 D. 0.15

8. afrser 9o & ufade &1 e & gA= € The rate of change of bending moment is equal to

A, 9IE-H &Y x fdTele Poisson’s ratio x Deflection  B. Gellel Slope
C. [T Deflection D. 39&YUT &1 Shear force



9. ¢ftheh ©eTca § / Traffic Density is

A. UF Tafdrse fem & Toel arer argel @ TEAT Ui o Ui fdaw
Number of vehicles moving in a specific direction per lane per day
B. Wid ©e Us AW &R & aoey arel digal hr g&dr
Number of vehicles moving in a specific direction per hour
c. ufa 6¢ forelt feg & aoat arel Hfeshcral arg=Al &1 HEar
Max Number of vehicles passing a given point in one hour
D. e BUu v AT 9 TS T FaTs Y SHS A O dTel dlgAl ol HET

Number of vehicles occupying a unit length of road at a given instant of time
10. T& HEITdl $Hiver AET &ir ?ﬁ?ﬂg % The width of an intermediate carriage way is
A. 3.5m B. 5.5m C. 3.75m D. 6.00m

11 T ox 31efir o7, Foresh aRoTerasy Ecer 3 Teh B W [N I IdT Tl §

The axial load on column which results in a slight deflected shape of column is called

A. FHTedT AR Buckling load B. fufelar 8T Crippling load
C. SIfae #X Critical load D. 3T H & 357%’ Tch Any of the above

12. B IRASET & AT A (w3ive) sm@E W Ay ST & o smepfa &7 e = §, o=

k2iy q;-‘!aFﬁ e fe@rT S &1 Activity on Node (AON) diagram for a small project is shown in the figure
below, in days and the predecessor relationships are shown.

B . 7 days
10
/ i \
A D G
5 days 12 > 8days

days b 4

C F /

6 days £ 15
days

RIS T Hel Hafer Far & What is the total project duration of the project?
A. 31 GadT days B. 30 lRadT days C. 34 Rad days D. 35 fead days

13, IR A= F AR ot F § i O sfPeaFa vavwd) it e g | (3merast
yaearad! TRa fy (T NTEE) Hawe e Ted ¥ (3 AT Hay T g

Which one of the following expressions gives the relation between SSD (Stopping Sight Distance), ISD
(Intermediate Sight Distance) and OSD (Overtaking Sight Distance) as per IRC Standards?

A. ISD = (SSD + OSD)/2 B. ISD = (OSD —SSD)/2
C. ISD=2x0SD D. ISD=2xSSD



14. ST HEH TGl GeH glel o T IR adfietcral qoiem Ueh Haverst 7 FArT gicl §, Haer sgardar &

When the times of earliest finish and the latest finish are equal in an operation, the operation is called

A. FATE Float B. Had FAE Free float C. Sifae Critical D. THT All of these

15. ¥R Hgh AW 3edca & 3T The Indian Road Congress came into existence in
A. 1947 B. 1934 C. 1943 D. 1927

16. Tsh el A AL GHYT FEATAT & The intermediate support in a bridge are called
A. SIfET dic Bearing wall  B. 9= Piers  C. 3{@cAeC Abutmient  D. 3T aTel Wing wall

17. EEATCH TaRANYT & HPee fAaRoT Igier ST THIST ST Tehell &

The moment distribution method in structural analysis can be treated as

A. wlfFafaferdr agfd Flexibility method B. @TamuaT Ugfd Displacement method
C. &l 9ghl Force method D. 3WFd & W FIS A8l None of these

18. FT3N G8T0T A, HEIHR & HAA T IT0TAT ST AT & In CBR test, the value of CBR is calculated

for

A. 5.0mm #EH penetration B. 2.5mm & penetration
C. &1 Botha &b D. 3UIFT H T HIS T8I None of these

19.TH Fielsl & &l T Tl SATAT SATAT & The coarseness of the grains of a mineral is known as
A. TA¥ST=T Fracture  B. WehT2l Lustre C TG tructure D. dTa¢ Texture

20. T faelooT & Ueh S Jecli H19T & HTHR T HRb §

In plastic analysis the shape factor for a solid circular section is

A 15 B. 1.6 C. 1.7 D. 1.75

21. forely vk TR ATl # A oReT & AsYerd dooh AISYEH & S ¢, al TAEH 3T gl

In a particular material, if the modulus of rigidity is equal to the bulk modulus, then the Poisson’s ratio will be

A 1/8 B. 1/4 C. % D. 1

22.Th &h Si& &Y T & e g The efficiency of a screw jack is equal to

A. GEIfd® YA Actual effort
3R TATH Ideal effort

3MERT YA Ideal effort
arEdfae WA Actual effort

C. TEdfdss 9 x e UHT Actual effort x ideal effort
100

m

D. 100
RIS FATH x 32T YA Actual effort x Ideal effort




23. £¢T &M Felell dealcl & Swelling of bricks is known as

A. Telell Efflorescence  B. ATFH Chuffs C. TS Lamination D. HaleT Bloating

24, 9R@gs AR W 3TadH ﬁﬁ SITAT STTAT & The highest point on a carriage way is known as
A. @IeT Gradient B. dhdl Camber C. T 31f8d F4T$ Super elevation D. drsT Crown

25. gAY gof &1 7 T wgeice G AT gl ATET The minimum compressive strength of lind

class brick should be

A. 35kg/cm B. 105 kg/cm C. 70 kg/cm D. 140 kg/cm

26. &t &1 ATl W1 5% FHRUT AT & Red colour is imparted to bricks due to
A. BTARMET Magnesia B. 9T 92K Lime  C. fAfT Silica D. @ilg 3ifeFaTSs Iron oxide

A
27. s Al JraRt & AT 3egAd HfhaH AT AeTard & The maximum permissible

slenderness ratio for masonry walls is

A. 40 B. 30 C. 20 D. 10

28. AT F T AR HAT QG THY, U e S &1 3R Fiése far aar §

While mixing cement mortar by volume, the volume of a cement bag is specified as

A. 0.050cu. M B. 50 litres C. 35 litres D. 0.35cu.m

29. 3TH dlv oy 3melt g2 T SaR & O AT HT SHS T Generally the unit of measurement for half

brick wall is

A. Cu.M B. Running metre C. Sq. m. D. Numbers

30.7 R & wg 3R 28 ReAlF arg diefe Fhe A amva & @iw IgaTiad g Far geme

The approximate ratio between the strength of cement concrete at 7 days and at 28 days is
A. 3/4 B. 2/3 G 1/3 D. 1/2

31. T A Yo & FtateR Fvgadt GAYT ... & T & ST Sidrl & The vertical intermediate

support of a land railing is known as

A. =gdef UIEC Newel post  B. Sof¥cy Baluster C. afFex Barrister D. E|1F-|3£‘5' Balustrade
32. HEh H ey ITelet] AT SATAT § Camber in the road is provided for

A. 3UgFd TT I Having proper sight distance

B. HUsheql ool &7 fAUYT Counteracting the centrifugal force
C. UHTaT 3Udg Effective drainage

D. 3Ulad EHT All of the above



33.Ush HSF & T@A & 1 3% 367 HUaT P I 27 FHEelldl & The rate of rise or fall of a road

along its alignment is known as

A. 3TIdH FUTS Super elevation B. ¥l amber
C. 99Ut Gradient D. ThaTY &T &elTeT Side slope

34. AT &1 Y@ HUCH FAT § The major constituent of Cement is
A TaferT silica B. THiXsh (TeIMAT) Alumina C. T YR Lime D. @RAT AT Gypsum
35. e A @ fhetept AT HET ST6T & Which of the following if NOT correctly matched?

A. 15:875 -HIT Loads B. IS: 1343 - YRC TS Fshe Prestressed Concrete
C. 15:1893 —3-]\?‘3[ el T3S Earthquake Resistant design
D. 15:1200 — &d HSRUT TITAT Liquid Storage Structure

36. 60mmﬁﬂhé100mmﬁmégﬁmmwﬁmmﬁsw%
The section Modulus of a rectangular section having breadth of 60mm and depth of 100mm is

A. 100x 10° mm?3 B. 200 x 10* mm? C. 300x10° mm? D. 600 x 10® mm?

37. T 1A A g o61 X a1 # sgena & &, ... fSig g ST &  The point in a beam where

the shear force changes sign is called the point of

A. ATFTH aar Maximum curvature B. [ dghcll Zero curvature
C. 9 RIFT Zero shear D. 3Tehe# ST.UA. Max B. M.

38. AR kg/cm® H 0 A T ZaTd §, km/hr 7 A A § FUT K FATAT BT IR § A

If Pis wind pressure in kg/cm?, v = velocity in km/hr and K = constant of proportionality then
A P=K/v B. v=K/2P C. P=Kv? D. 3TIad # ¥ PS5 78T None of the above
39. fAuda e = ﬂ_‘i'\T 3ET gld %‘ EIET The point of contra flexure occurs where -

A. fga 9o AT g Bending moment is Zero B. fa &l [ & Shear force is Zero
C. 9f89T geT 3HHhaH & Bending moment is maximum
D. TR s J®™HaH & Shear force is Maximum

40. g AT a5 99 & Hooke’s law is valid —

A. Shadl odTelde dI AT T FIT Only above elastic limit

B. shad wTdlelgal &1 HIAT & ¥ Only within elastic limit

C. Shadl TATEeH &7 HAT & $fIdT Only within plastic limit

D. 9 T & Ua e 9R & 3Haerd cedr &Y Till a substance breaks under load



41. Reoriad Jafaer I8 & Feedr & Trignometric levelling is also called

A. URIET SafelaT indirect leveling B. fasigen wiafeier differential leveling
C. 33T Wflyleveﬁng D. W ﬁﬁﬁ'ﬂprofile leveling

42. TETT & TTY ATGA T 75 G TSA, TS Gollel FUR & For measured distance L along a
slope, the required slope correction is

A. 2Lsin’ /2 B. 2Lcos’ a/2 C. 2Ltan’0/2 D. 2Lcot’a/2

43, mé*aﬂ% Rufy @uRoer 3uag (Shdvy) i aesfas el Fﬂé’ Nominal orbital height of
Global Position Satellites (GPS)

@ W. 10,000 km /B{MOO km C. 16,000 km D. 36,000 km

M.MWWW@WW@@W@WW%WWWmﬁ

The horizontal angle between the true meridian and magnetic meridian at a place is called

A. T&372r azimuth B. BIId declination
C. AT HTHYIT local attraction D. b1 AT magnetic bearing

!

45. afe 1%mﬂ$mo.s%wm%mmﬁaw%qﬁmm W is0.15% &

ar Feaew Alg &T ?-I'm@ ... SUEY gen If an upgrade of 1% is followed by a downgrade of 0.5% and
rate of change of grade is 0.15% per 20m, then length of vertical curve is equal to

~100m \/Bdﬁm C. 300m D. 400m

46. TSAFNE T@T & [T § S .7 TR & Isogonic lines are lines passing through

A HHATA Fehrd e ﬁ% points having same declination
B. R[eT TR e aa-g points of zero declination
C. gaAWT f3u qebd iao-g points of having same dip D. e g JFd ﬁ"lﬁ points of zero dip

47. e MYt & AT IFRR AT & G el & [T STeeEl & T8 & v args o

$T AT FEATAT & The quantity of water required to be stored in the reservoir for equalisingthe
fluctuating demand against constant supply is known as

A. 3TTUTcTele $SRUT Emergency storage B. SehaI3 ST Breakdown storage
C. 37f3a7 $SRUT Fire storage D.i"i@'ﬂﬂ 3RoT Balancing storage

48. 3§ & ST AT Ueh & ofF o AT glAT AT The algebraic sum of pressure drops around a
closed loop must be

A. HHT equal to B. [ ¥ FA less than 0 C. = & Hf¥F greater than 0
D. ¥ #¥= fhad 1 & & greater than 0 but less than 1



49. IFERAT F FY-TY &0 FHUT B RAhrer & T G O A deelle et F ¥ FiT

£ Which of the following filtration technique is effective in removal of minute particles including bacteria?

A. g X Sl Rapid Sand Filters B. 3Td &{ Belall High Rate Filters
C. FETH T SolaT Slow Sand Filters D. &I Tel=il Pressure Filters

50. H&d 9dig g?-ﬂ'é JUTTeT &, B‘Bﬁfﬁlﬁ Sleprd I@T In free flow conveyance system, the hydraulic

gradient line

A. SToT T8 & TIY A GAT Coincides with the water surface
B. Tl Hdg & UL @I Lies above the water surface
C. 5T Idg & # & Lies below the water surface D. 39T THYT All the above

)

Sl.ELF-ﬁIT delac drel % Circular sedimentation tanks have

27 A, FICEd yarg Longitudinal flow B. AT Wdlg Vertical Flow

/:/l‘é:’m 9aTg Radial Flow D. 3WIFT THT All the above

52. @R 9T F o vd AeiRge & o9or aiv A ¥, A w9

Hard water contains salts of calcium and magnesium, principally as

FrElae, E%Eﬁﬁ?: e FoIINISE carbonates, bicarbonates and chlorides

SIS, FARISS Ud Hothe bicarbonates, chlorides and sulphates
Frafae, Eﬂ’l’l‘cﬂ? wa 35@3‘5’ carbonates, chlorates and oxides

FlalicH, SSPTE-ICH Ud Hothe carbonates, bicarbonates and sulphates

o 0 = F

53.U STofe]cl ol T 0.55 Ud Ueh faQly &Rer 0.15 I fARISC 39 HT Ul S9MST Determine
the specific yield of an aquifer with porosity 0.55 and a specific retention of 0.15

A. 0.70 B. 0.40 C. 0.082 D. 0.25

54. Uk Hololel 0.01m’/s & &T W 10mg/l 3 Aigar ¥, Tk arT & 3mg/l SIS Tigar & @
garfgd fRam SIar & dAT 0.2 mi/s T X ¥ varRa gar &, Feor fr S gigar =24 § A

sewage flowing at a rate of 0.01m’/s has a BOD concentration of 10mg/|, is discharged into a stream with a
BOD concentration of 3mg/l and flowing at a rate of 0.2 msls, what is the BOD concentration of the mixture

A. 33.3 mg/l B. 3.33 mg/I C. 0.33 mg/I D. 6.67 mg/l

55. foiFsT & @ @l AT ZHTS IRHAT § Which of the following is a unit process?

A. ST Screening B. del&dcC Sedimentation
C. 3T 30T lon exchange D. FUTT (W\I%IEI,@'QET) Flocculation

56. SIST TIBTOT 5% ool AT & AU fFw amw) 5 AT # 230 & sedemer fhar o &Y i 3
mg/l fFeiRa frar am=m) WHH@TEFT BOD; 3T § BOD test was conducted on a 5% dilution

sample. DO consumed in 5 days was determined to be 3 mg/I. What is the BOD; of the actual sample

A. 3 mg/l B. 15 mg/I C. 60 mg/I D. 30 mg/!



57, T & ¥ Fla ¥ IUSOT Aclolel HT TS T ST & fow A 396 FA & Which of the

following appurtenance provide access for cleaning and inspection of sewers

A. &7 If8T Catch Basins B. Fellel 3TT3€ Clean Outs
C. H<78TT Manholes D. FaIf3iE aTel Flushing Tanks

.58, fI9dd A5+ ¢aRT A FT TATE & & The flow of sewage through inverted syphon is

z\/ [ %ﬂ%ﬂ?@? g & ST At below atmospheric pressure
\,B./HTI_I-}E@?I a9 & FUL At above atmospheric pressure
C. W@Fﬁﬂ ald 9y Atatmospheric pressure
D.3WIFT H ¥ HIS 7T None of the above

59. WA STl # STeirer IfOrl & Helddl 3Taedsh wgeAda i3

The minimum DO required in natural water for sustenance of aquatic life
A. 3mg/l B. 4 mg/l C. 5mg/l D. 6 mg/l

60. UTEe ST S ST & Facultative Bacteria works in

A. aramaefl Tafa Aerobic Condition

B. IR aramefr BUfT Anaerobic Condition

C. 2T aramel vad IR arardedy BUfd Both Aerobic and Anaerobic Condition
D. Uarerae TEufa Anoxic Condition

1. PRUeT a9 36 ®T A c¥ad fRAT ST § Absolute Pressure is expressed as

a..ﬁ/ j aI9 + 35T &I Atmospheric pressure + Gauge Pressure
CAGHSAT aAF - ST &9 Atmospheric Pressure — Gauge Pressure
C. AT g - El'l'-’-:l)ﬂ??ﬁ'& SId Gauge Pressure — Atmospheric Pressure
D. ST a1 & AT 8T & Is same as Gauge Pressure

62. 7 A &1 &R 55 ¥, 67 I3 vd 3. @Y A9 GaRT W, S« 2000 H 1 &F Tl W

qs' ST § &gaT & If the Chezy’s constant is 55, Discharge through a channel 6m wide and 3 m deep , when
itis running full at a slope of 1 in 2000 is

A. 3m/s B. 6m/s C. 1.5m/s D. 0.75m/s

63. YeAles T TEAT 1 SI3T &8 & T & & H IR forar arr £ Reynold’s Number is
defined as the ratio of inertia force to

A. I[&cd e Gravity force B. Af@T & Viscous force
C.cdrd sel Pressure force D. Hdg d«1d &l Surface Tension force



64. 7% NI <o HT IO 0.98 ¥, 0.4m g1 ¥ 3 e 71 Aroer fhar I, T 10m/s? A

IAT, 9GTg & 99T & Ial dhliav A pitot tube has a coefficient of 0.98, measured a difference in pressure

head of 0.4m, assuming g to be 10m/s’. Determine the velocity of flow
A. 1.39m/s B. 2.77m/s C. 4.15m/s D. 5.14 m/s

65. U 3HThesi] Y Sl Seclfoldd &¥el dlel & THUH T dlede & 3TaNOT 3 Ina volute casing

surrounding the impeller of a centrifugal pump
A, WaTE &7 87 HR-EM 9gar & Area of flow gradually increases

B. Yalg T &7 ¢M-¢fY "ear § Area of flow gradually decreases
C. YaTg T &1 98T I&dT & Area of flow remains the same
D.3WFT & T aﬂé &I None of the above

66. oIFeT H W FleT W YT A & AT F AT A & AT GYFT &l §  Which of the
following instrument is used to measure the pressure of a fluid

A. ol &I I 3T Bellow’s Presssure Gauge
B. USAIHIEY Piezometer

C. HAHIRT Manometer

D. 3UIFT THT All the above

67. 9aTs &1 fohed Tred ga 1 quedr feg & Reg o daor S &, @Eondl & The type of flow in

which the density of the fluid changes from point to point is known as

A. AT 9amg Steady Flow B. @HIA YaTg Uniform Flow
C. 3 A= 9dig Non Uniform Flow D. HE AT dTg Compressible Flow

68. 519 UTh{cieh 3HUATE & FUX Ueh ehefol Yalfed fohal ST § Y 3UCieY TS a5 GGl &1 Fad
& When a canal is carried over a natural drainage, the structure provided, is known as

A. STl aqueduct B. 23T #Tell siphon C. g A super passage D. WALT-Ifgean inlet-outlet

69. W e ford T ?IT-IT %’ Sheet erosion is caused by
A. 9 Wind B. BHeIE Glaciers  C. 3 Tﬂﬁ'Heavy Rain D. H&T WaTg River discharge

70. U I%cq ST KT G AW FEATLT &, d9 ol HT A W T & aard T agar qur

YN ShAT: (Sseg-STel T SHE 9N U4 T ool ahl IEATS) 8IS When upstream face of a gravity

dam is vertical, then the intensity of water pressure at the water surface and the base respectively will be (w-
unit weight of water & H is depth of water)

A. 0and wH*/2 B. 0and wH*/3 C.wHand0  d)0andwH

71. T A ARlT R qex JgIsr Ef:m &3 & au AT 1 fFEA & / Which of the following types of

rain gauges used in remote hilly inaccessible areas

A. T el T FEA weighing type B. ol §U floating type
c. fefder afhe e tipping bucket type D. HTSH=T T 9T AT Simon’s raingauge



>

72, IMSEEEE & & &7 &7 45 QA qur 55 FA. wfy 150 w9 RRA &1 OO afee 7 e
auT &1 3aaeT TEUS 250 g9 A, § The area between the isohytes 45 cm and 55 cm is 150 sq.km

" and between 35 and 45 cm is 100 sq.km. The average depth of annual rainfall over the entire basin 250 sq.
km is

A. 36 B. 56 C. 46 D. 45

73. ATt # ar¢ & warg fr U & AT oy @ AHEIUT & Lacey's equation for calculating flood

discharge in rivers, is

A. V=108 R¥*s*? B. V=10.8 RY25¥* C. V=108 R s? D. V=108R"*s¥
74. GG HElAT IAhih / Density index is used for
. %ael HIGdT T4 FAT Cohesion less soil only B, TGl I Fel dhael Cohesive soil only

C. Hagdr faglel Ud Hagal Y HaT Cohesion less and Cohesive soil
D. 3WIGFdT H & FIg AT None of the above

75.@%*%@3ﬁ$mmﬁqﬁmqﬁﬁm$mﬁ#mﬁmmﬁ/Highlyviscous

watér between the points of contact is forced out from between the particles
A. STITAE THeT Primary Consolidation ~ATEAfAE Secondary Consolidation
C. qciraeh §H A Tertiary Consolidation D. 3TFT FHT All the above

76. T Sid 32Ul & 39) / A foundation is shallow if
A. TENS TISTS ¥ HUF § Depth is greater than widih
B. TS SIS W A & Depthiis less than length

C. ?I%TI? ﬂTS’I'é’ T & % Depth is less than width
D. EE TS ¥ 1TF § Depth is greater than length

77. 9 arer & e T & I § / Clay cores in earth dam are

A. TATRA Consolidated B. gScdd ATAd AT Compacted wet of optimum
B. SSccd WU Ehdl Compacted dry of optimum D. 39U T@HT All the above

78. el IIAIT STf{aT &TFAT/ Net Safe Bearing Capacity

$ol WH SR &THAT * Y& T Tch  Net ultimate bearing capacity * Factor of safety
9 SR &7Har / GT&TT T Tch Ultimate bearing capacity / Factor of safety

WH TN &FH AT * T AT "Th Ultimate bearing capacity * Factor of safety

Dol WA safier BTHCT/HIET T TH Net ultimate bearing capacity/Factor of safety

79. f@' F R &I 3TH CART Herddr fAeIr 8/ The weight of the well is supported by

A. FHE gy TR Cutting edge B. $U T AT Well curb

C.UR ¥ @"2" #T IS Steining D. f¥@el Toler Bottom Plug

o o = P

80. JeT ATHY & TGS $HH HRUT § / The slide of an earth embankment is due to
A. TTIATCHS ﬁ?{_%structural deformation B. ©¥UT friction
c. AR ﬁ'ﬂjﬁf shear deformation D. 3THaTT adhesion



